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"'y, which is not soluble, requires grinding

OVERVIEW

727 rules that regarding 1"y, which is thrown into the n%ni v, it does not require
7P nw, however regarding y»n, which is thrown into other rivers, it does require
779, A0 27 argued that logic dictates the opposite; 7'V which does not dissolve
requires 7P N, but ynr which dissolves should not require 717°9. The mains issue is
that after whatever steps are taken to destroy the 1"y, it should not be possible to
derive any benefit from it. M50 discusses the dispute between 701 271 727.

- NYNN B9 I99N NPINY S¥a DI 2997 YPYN NINIY
It seemingly appears that >''1 requires 77> by 1"V even if it is cast n927 2% —

mooIn proves this conjecture:
- ‘nnn 023 199904 NPINY 7298 PN D29 9INPT INAN NINUNT

For presumably regarding that on which 7729 ruled that 7psnw is not required,
which is casting the 1"V in the 1% 2%; regarding this issue -

2monY 29271 90 29 MNP
>''1 rules that 7w is required.

mooin offers an additional proof that > requires 7p°nw (by 1"V) even nonn 0°2:
= N9NN O XYY NPINY YT DI 29 9INP NPT /9N INYA IN T

And additionally, if >'' stated that npsnw is required only by n97: 98w and
not by m%2m 2% (thus agreeing with 1121 in regards to 1"v) -

= NN NN 79T AIaYa NAIN MDD N
And °"7 does not argue with 1739 regarding 1''v, rather only by y»n is there an

argument (where 727 requires 7170 and " does not) -
= 11297 NOVUP NPINY 123 MNP NI 3‘]’01’ 297 PO NN TINP INM 19 ON

! 127 assumes that since no ships travel in the 7277 o, there is virtually no possibility of someone deriving benefit
from this 1"¥ even if it was not ground up.

? o1 27 claimed X12n0n X29X (see previous ') seemingly meaning that you 7127 are ruling that 1"y does not
require 7P NY (since it is being cast moni 0°2) but logic maintains the opposite of what you 137 state, for since 1"V is
70 MR RY it always requires 7P mw even 1717 2°2 (for there still remains the possibility that someone will use this 1'V).
See [however] footnote # 18.

’ The proof to 7o 27 was since the Xn>12 stated 0°2 v prw. If we maintain that >3 always requires p°nw (even
nonn o72), then this Xn™"2 is a proof to "1 (since it says 0°2 2°um pmw, any 0°). However if > agrees with 721 that
TP W is not required n2n7 0°2 and the Xn»12 is discussing M171 IXW why is this X2 proof to "1 and a question on
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If indeed this is so, why does the X 1) state, ‘we learnt in a Xn»»2 like >''%’?!
And also why does the X713 state, ponw is difficult according to man?t?

mooin concluded his proofs that > requires 7p°nw even by nonn o (by 1'Y):
- *nnn %Y 909 5‘["18):‘,7‘1): NPINY 2301 XY MM INWA 0 299 1T 9D

And according to this view (that >3 requires p°nw even by nonn 0°) it will turn
out that according to 5''9, by n19m: 98w, 7P nw will not be effective, since the Xin
requires to bring the 1"y to m9n27 2!

mooIn reconsiders his view (that 7P nY is not effective M771 IXWw2 according to *"):
- 72911 %9 Yy 21 *noN 1Inn Y09 %29 AT AN 1PN

And this view does not seem to be correct, since %0 '3 brings proof to his ruling
from the P09 of (257 %12 %¥ 71 (and he spread it out over the waters)) [ 792N
27 3 7 A R e R (and I threw its dust into the stream that went

down from the mountain)] -
- Ym9n) INWA APINY ROINNT ¥IWUN

Indicating that 7psnw is effective even 191 aNwa -

mooIn now offers proof that 7P nw is not required by 17177 0° (even according to 701 27):
= APINY 91 R 1PNT INWIY N3 ATAYA NDNN O IMNIYT DIPN YI3T I

And furthermore, in every place where the X723 mentions 19»57 2> whether in

"'y noon or in other places, it never mentions 7P>M; proving that Apnw is not
required by 7m0 2> —

mooIn now proves that AP W is effective MA71 IXW2 (not as mentioned previously“):

727, since " 7121 both agree that by m171 WRW we require 7R nw, but not by o 0. See [however] footnote # 16.
* See footnote # 3.
3 See ynn "7 'o1n [TIE footnote # 1].
o 1f Tpnw is effective NM11m1 IXw3A (as 727 maintains), why is it necessary to cast it into the 7% 2°, when he could be
MN71 RS Dum P just as he is nonn 0°% v prw. This proves that according to "', 7P nw is not effective Xw2
m71. However according to 7727 it is understood why the Xin rules n2n7 °% 221 for then it will not require 7P nw (as
it is required [and effective] by n771 RW).
73,3 1"y. The oon argue on >0 1 and say that Mm% 7M1 P is not sufficient since 21 WY1 X7 A% (it fertilizes the
fields causing them to derive 1x37 from 1"¥). Rather they maintain that the 1"y must be thrown into the no»7 o°.
8 See X, 1"y where 07 " cites the P09 (from X3,0 [2p¥] 027) which states, *ANRY 23va DY DNWY WK DINRYD DY)
N33 T TS 5037 9% 119y DY TRUR) 19Y? PT WK 7Y 207 1INt DR N3X) WR2 iNR 97R); proving that Tponw together with
mn? 771 is effective, for presumably not all the 15Y remained in the 771 but rather some was carried to the banks of
the river (where it could fertilize that area), and nevertheless it was sufficient. See footnote # 20.
° This 109 should be amended to read as in footnote # 8.
' The = 1M 77777 93 was not the n9n7 o and nevertheless wn cast it there after the 7P nw.
' See footnote # 6. See “Thinking it over’.
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= 191 ANV 211 991 192N NDNN D NPT 1NN 1PN1T N11993)
For in many places we find that %27 27 is mentioned, but nevertheless it is

effective even MM71 ARW2 (presumably with 7pnw [which is not required by monn o°));
firstly -
- N9NRN B9 ANIN TOTY N NIIN 239 )30 (3,00 Aot nmay) BINAYEN 59 10T

For in the end of 22537 %> 715 the /mwn teaches, X' rules he should bring the

value of the benefit and cast it into the r»nm 2° -
- XYY 1YWY o1t 71 9w Paan v2) N99)a 0NN 13999N)

And the x923 there states regarding a barrel, take four 1t and throw it into
the river (even though it was not the 1971 o°; proving that n7»7 2 is Xp17 R?) —

mooin offers an additional proof that nnm 0 is RPYT WKY:
= AYNN O TO91 51199 ITID MYN Y91 23X 1IN (x50 91 NDIPNY (x,12 97 T2 1)

And similarly in 291 nynoon and 7%°p» the mawn teaches regarding one who set
aside money for the N127p of a 9913, and the 7°11 died, he should bring the money

to the mon v -
- “nbmn 09 sya wpn NN

It is evident that w7pm requires 17927 29 in order to destroy it -
= N91A TYY I AYAINR DIPY YIPN 22 19999 (x,03 91 1°I9¥2)

However in 1°29y n2on the X713 said regarding wpn (nowadays), ‘take four s1r

and redeem the w7pn and throw the four "7 of WP into the river’. Again we see
that even though the mawn stated noni o°, nevertheless any river will do.

nooIn concludes:
- 7299 5 “mﬂm INWA NIN NPINY S¥a KD G0 299 DX NN 790

Therefore it is the view of nm»poin that according to %''9 also, AP W is not

required by the n%ni7 0, only m9m1 axwa, just like according to 1721 -
- Bapyny X9 NYNN 0 19990 19T NNHAYT DND B9 HVNT MY NIAD N7 NIN

"2 This mwn is cited previously on X,12 regarding the value of the 77"wx .

3 A barrel of (1"v) 701 1 became mixed with other barrels of wine. X701 21 told the owner take four 117 (the value of

that barrel) and throw it into the river and you will be permitted to sell the wine since you are not receiving any 1R

from the 701 7", for you threw that value away into the river.

' This is only in a case where no other use can be found for this w7p as in this case of 711 (this money cannot be

used for any other M1137p).

' It may be necessary to say that when the X723 stated X732 >721 17 '7 2pw (in 12791 1"y 'on) it will be required to

first grind up the money and then X77712 *7w. See Myn 71"7 &,31 M52 MdOIN.

' Now we can understand the AOY 277 PNND X0In and 7277 Xwp AP nw, which nvon asked previously (see footnote

# 3), for since a ond 0° means n7»1 o° according to 737 (but not according to Ao 27) so the Xn*>2 which stated pmw

o°% 2°um, proves that 701 27 is right that ano o’ is M1 XY and not 77171 07 not like 727 who maintains ono o° is o
3
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However they disagree how to interpret the 71wn (of X °01 "), where 729
maintains that the words 2°» "u» generally (even if it is not specified), by 1''v

refers to ro»7 2° and without 32w the reason 721 assumes this is -
= NN DY P91 NNT NN NNN NN NIAY NN *3) Ny NINTD

As the Xin taught in the 8w (of this mwn) regarding one who finds vessels
upon which there are the forms of the sun and the moon, and as it also states in

many places regarding 1"v that 17927 2% 79919, so therefore 7127 assumes that the ruling of

°DY° " in the X9°0 (even though it states ono 0°, nevertheless it) refers to nn7 o° -
- 500 099 905 NITHA 23N KT NPINY M1 5 MM INYA 1Y 5P 909 29

However %' establishes the ruling of "0 7 by n19 98w and through apsnw,

since °01° "1 did not state clearly 1257 29% %9 as it said in the X" (therefore *" prefers
that *0v "1 is discussing N7 W) -
- $1773 ANYA {NRN RIN DY 29 1249 12 XY

And there is no difference between >''11 1739 regarding 1"v; rather their dispute is
only by ny9i71 98w v, where 727 requires 170 and > does not.

nooIN asks:
= 19 NTIAYN VY NN NIIYT NI [PPHIYV] (999) N9t Nraya Y nve 1321‘17 AND ON)

And if you will say; according to the 3229 (who argue with *01 "), that they do not

allow to be rid of "'y by grinding and 7% ;77%1, what should be done with "'y -
- 1190 ANV APINY 2311 KY 192997 NYNH DY Y NYY Y3 ION

Is it then necessary all the time to bring it to the r%=:7 29, since according to the
1339, 7Ponw is not effective N9 INwa.

mdoIN now proves that 7P MY is not effective N1771 AXW2 according to the 1127:
- ©5199 %39 Y¥ 91 29N XYD 990 1IN BUN 1Y 1R Tonn sanpe

nonn. Therefore it is 7277 X°wp why do we need npnw since we are (supposedly) discussing n2»7 ©°. 727 answered

that we must assume that there are exceptions to this rule (that ano o is n2»17 0°) and this is one of those exceptions,

where here ono o° means N1771 XY and it requires AP,

T2y,

'8 The meaning of X72anon X39°X is (not that even by n7n1 0> we require AP Y [see footnote # 2], but rather) since

0> ano is M1 XY therefore it makes sense to say that by *01 1 (who discusses 1'"V) it requires 71w (by N7 IRW)

since 10°nn X2, but by ynan there is no 1170 requirement (by N1 XW), since it is 70*n (and 727 argues with HoY 27

only by M1i1 WXw2 yam).

YR, 1"y

20 2,27 (Xwn) nmnw. The oo there concludes RW °12 NX Pw*Y. mwn gave them to drink from this water, to check if

they worshiped the 27771 93V, as one checks a vI0 by giving her to drink from the 0°7%»7 0 to see if she was m1m,

and those that worshipped 1"¥v died after drinking the water (just like a 7v10). *01° "3 brought proof from the fact that

mwn ground the 93y and threw it into the 977 12 771°7 9m1 that Mm% 737M ap°nw is effective (see footnote # 8). The

o°non responded that there it states 0777 219 v 71 that all of the 23y 19y was cast into the water (so there was no 19
4
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For the Xn>12 there teaches, ‘they said to "01° ', ‘is there any proof from there,

for the 7100 states 29757 12 Y¥ 71" (and he spread it over the water) meaning that -
= VIV IPTIAY NIN AWM 1990 RD

sw» only intended to probe them as one probes a e’ -
- Y9N3 ANYA NPINY 2301 KT Y591 Zrnyo INAY T9908NT10)

And since it was necessary for the 7127 to give this reason (of 7103 7p°72) as to
why nwn cast the 73w 19y into the water, it can be inferred that the view of the

1127 is that 7psnw is not effective N9 INwa -
= 9100 PP HY IMN 0299991 09NV *9Y XNPYVI

And the reason why 7p°nw is ineffective m171 IXw2 is because the water carries

the 1"y 75y by the river banks and they fertilize that land which causes one to have nx371
from 1"y. The question therefore remains how one is able to dispose of 1"v.

NDO0IN answers:

1001 21990K 191 DINNY 10 PRY BP0 N5 197 1991 192957 1YY W
And one can say; that according to the 3129, one crumbles the 7"V and spreads
it into the wind in a place where it will not cause plants to grow, and that is
also what the X723 states there.

SUMMARY

The dispute between A0 271 7127 is only regarding NM771 IXW2 ynn (where 727
requires M7, and "7 does not), however regarding 1"V both agree that 7p°nw is
required only M1 TXw3, but not n917 021

THINKING IT OVER

Mmoo proves (from 12731 1"V 'on) that AP nw is effective (according to 701 27) by
mm xw.>* Perhaps those 27k who permitted to throw it into nM771 XY agree
with 727 (according to whom 7p°nw is certainly effective NM1771 9Xw31); however
how do we know that M1 7xwa 7p°nw is effective even according to 7o 2721%

9317 on the dry land).
! The 1327 could have just said that 17> 7n pmw is not sufficient; however by wn all the 79y went into the ma.
This proves that casting all the 79y into the n1 is insufficient (as nmoown will immediately explain), so they said
instead that 7wn needed to cast the 99¥ into the %m1 in order 7vI02 P72,
22 The n"a7 M7 amends this to read 1R 22 o°nnX (instead of 13°7K 191 DONAY).
¥ X, 7 1"y that they disposed of the 1"y in 1797p 13 which is not 2°mg 7.
* See (text by) footnote # 11 (and onwards).
2 See noP WX
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